Qi t [];
(» Esercizio 5.2.1 %)

(» a*)f[t_, y l:=txe(3t)-2y;
a=0.;
tA=0.0; tB=1.;
n=10;
h=(tB-tA) /n;
t [0] =t A
t[n] =tB;
Do[t[i +1]=t[i]1+h, {i, 0, n-1}]
w[0] = a;
Do[w[i +1] =w[i]+h=*f[t[i], w[li]], {i, 0, n-1}7];
sol =Table[{t[i], w[il}, {i, 0, n}];
sol num= NDSol ve[{y' [t] =f[t, y[t1], Y[tA]l =a}, y[t], {t, tA tB}I[[11];
(*sol true=DSol ve[{y' [t]==f[t,y[t]1], Y[tA]l=a},y[t]1,t]1[[1]1]%)
trange = {t A, tB};
yrange = {0, 2};
pl 1 =Li stPl ot [sol, PlotRange -» {trange, yrange}];
pl2=Plot[y[t] /. solnum {t, tA tB}, PlotRange- {trange, yrange}l;
(*pl 3=
Pl ot [y[t]1/.soltrue, {t,tA, tB}, Pl ot Range-{trange, yrange}, Pl ot St yl esRGBCol or [1, 0, 0]1; *)
Show[
pl 1,
pl 2]
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2 Esercitazione8.nb

(* b #)ft_, y 1:=1+(t-y)"2

a=1.,

tA=2.; tB=3.;

n=2;

h=(tB-tA)/n

t[0] =t A

t [n] =tB;

Do[t[i +1] =t[i]+h, {i, O, n=-1}]
w[0] = a;

Do[w[i +1] =w[i]+h=*f[t[i], wlil]], {i, 0, n-1}7];
sol =Table[{t [i], w[il}, {i, O, n}I;
sol num= NDSol ve[{y' [t] =f[t, y[t]], YI[tA] ==a}, y[t], {t, tA tB}][[1]];
(*sol true=DSol ve[{y' [t]==f[t,y[t]1],Y[tA]l=a},y[t]1,t]1[[1]1]%)
trange = {t A, tB};
yrange = {0, 2};
pl 1 =Li stPl ot [sol, PlotRange -» {trange, yrange}l;
pl2=Plot[y[t] /. solnum {t, tA tB}, PlotRange- {trange, yrange}l;
(*pl 3=
Pl ot [y[t]/.soltrue, {t,tA, tB}, Pl ot Range-{trange, yrange}, Pl ot St yl esRGBCol or [1, 0,0]1; *)
Show[
pl L,
pl 2]
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